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NOTE: Attempt al quesllons of Section-A by filling the correspondlng bubble on the MCQ ANSWER SHEET and_

1.

return it to the Superintendent within given tIme. even if you have not attempted any question.

‘\§ECI|0N_¥A | -

Time: 20 Minutes : : ' Marks: 20
1. Thé product (2—1) and 118 ...vweenee. 6/ 2i, B)2+1, C) 2+|"’ D) none of these
2. lfz=-2+2thenZ= ... &- 2 %, B) +2- 2. C)2-2i, D)-2+2i
3. Ifthe matrix Aand B are comforlable for multiplication then (AB)! = .......... A) AB, B) BA, C) A‘Bt ) B‘A‘
4, 10 7 p— A)—1,@1, €)0, Dy1-x
J (G =348, T =48 then T =7 = ..o 18, B) -9, 071, @ rone of these
6. BXD = ... A)bx3, B)b- ,a—bxa D) none of these |
1. A.M between a and b is ..o @‘ %E, B) Ja_bf ) azibb’ D) 2al t;
é. Which of the following is true? A) A>H>G,@'A>G>H,' C)A<G<H, D)H>A>G
9, ?:;fz 2 e A (Eﬂﬂziﬂ)z’ B) Jril(n+'1)6(n+2),@ (n+1)6(2n+1) D) none of these
10, g—:: A)4l, B) 24,@‘/1;, D) 3!/’ ) i
11. Forevents Aand B, P(AlB)=...........é P(:(Q)B) B) (:(Q)B) C) P(A) + (B) D) A(U)B)
12 54104154 b B0 = s Aj 5“(2*1)1,@ 5_”(";1) 0 ("+1) b) nt;ng of these
13. The number of terms in the éxpansion of (a+b)ﬁ 18 connrennnns A) n,@ n+1, C)2n+1, D)n-1
TR E— ,if x<0 A)x@-x, C) £x, D) all of these
15. cos(n+é)= ........... @'iéose'. B) cos@, C)sing, D) ~sind

In any triangle ABC, b?+¢2—2DCCOSOL = uvvvisen A) H‘@Eaz C) ¢, D) none of these -
17. In any triangle ABC, area of e{A: .......... 1 zsm:ns;nﬁ 01 zsmgns‘;ny )3 Lp?sinc. D)5 bzil%%%‘l
18. Rgnge of’cos.2x [T A) R,@[—L‘I], Cj {~1,1}, D} none of these
16: Poriod of COSKS v Ay B & 2n, _D)@-
20 Dom_:lainofprrincipal lang_entfunciioﬁis S A)--<xs ——<X< , C)~n<xsm, D)0sxsn

‘ 2



S T11ET [
A D
MATHEMATICS (@) 9\/ {

Time: "2 Hours 40 Minutes

I

vi.

vill

viii.

X,
Xk,

Xiii

SECTION-B

Marks: 50

.. Attempt any ten of the followmg All carry equal marks

Write (+ - )2 in-the form of a+ bi.
=% 1 90
LIS
Find the projection of the vector 5:?—2/1\+’I;_ on the'vector'5=4?~4]}+ 7k

Find the value of MfAﬁ[a -2 1 }is singular.”

Given an =201, for the arithmetic. sequence 59,13, .......... Find n.

- Insert four geometric mean between —8 and 3.

Find the sum of n terms of the series 22+ 42+ 62+

How many different words can be formed from theletters of lhe word "BOOKWORM" if the letters
are taken aII atatime,

Expand (3a‘—41_))

Fi'nd inverse of f (%) =4 +42x

Maximize f(x,y) = 3x+5y, subject o 2x+3ys12 3x+2ys12 X+y22,x20, y20
Show that sIn(or +B)+ srn(or [3) 2sinacosp

Use law of cosine to solve the triangle with dimension a=120, b=240 and y=32°

. Show that cos(2sin'x) = 1-2x2, - +xx<1

SECTION-C o | Marks: 30

NOTE: Attempt any three of the following quesiions. Al questions carry equal marks.

2,

ii. " Find the value of n, if

—4w=3
Solve the simultaneous linear equalron wrth complex co-efficients zz +3w=11-5i

Let A= [Z’ 2} showlhat]A |=m‘

Find the direction cosines of the vector from P 4,8,-3)10 Q(-1,6,2) -

n+t nel

PO be the hormonic mean between a and b

Expand \/ ™ upto x3

Express sin® +cose in the form of rsin(0 +¢) where the terminal ray of @ and ¢ are in first quadrant.

Find R T\ I, Ty and r, for the triangte wrth measures of the sides 5, 12 and 13,
Draw graph of y = sin| x +—2-) Osxs2rr



